CLASS : 12th (Sr. Secondary) Code No. 4328
Series : SS-M/2019

Roll No. SET : A

Afes A5

PHYSICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FYY G F T fF FT GeT-0H H JRT §T 15 T
g7 21 2

Please ‘make sure that the printed pages in this
question paper are 15 in _number and it contains
21 questions,

o To7-YF H alfed & G R4 T4 HE. T_T T g F
B FA-RTH % JeI-72 T (@)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YY1 F97 F TV [VGT @ BT @ B, F9T H HHH
T fered

Before beginning to answer a question, its Serial
Number must be written.

4328/(Set : A) P.T.O.

Previous Pathshala




(2) 4328/(Set : A)
o FTT-giaH % &% 4 @il G971 T 85
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd @ o de TE AR o
STaeTEAaT & ki@ 3T frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o ghereff ST T To FIT-UH v 9T [or@)

Candidates must write their Roll Number on the
question paper.

» ZUY 9] F TFTT &7 @ §d I8 _GARTT T @ & J97-9F
g7 7 & &, gl % S9N 56 @9y § wg A aar
@B TeT 1T ST

Before answering the questions, ‘ensure that_ you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 73T
(i) TTT 7 5721 597 &
(ii) & 5T a8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/

4328/(Set : A)

Previous Pathshala




(3) 4328/(Set : A)

(iv) o7 G@r 2 @11 T% g FT09 Fo7 & T T9%
797 2. 37 H &

(v) 527 G& 12 @ 18 7% T Fa0q Fo7 & T J9%
797 3 S T B

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T J9F
I 5 37 H &

(Vi) J97- 77 & G @7 @ FS [AweT 78 81 FMIT 5 FH
ared A g F ol T qarT B T &1 0
go7 H & oy BT W a7 § @ Fad & & F97

T &

(viii) g & ST H- Gl 7E &l AT 87 T,
TGTIHIT RIS 1 20T [T o &eeTl 81

(ix) T&T ST & Gy HEkd Gaw FadaE & J
FH TGN T T & -
c=3x10%m/s o =41x10~ Tm A~
h=6.63x109%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : A) P.T.O.

Previous Pathshala




(4) 4328/(Set : A)

(iii) Question number 1 consists of fourteen (i-xiv)

objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is. no overall choice.. However, an
internal choice has been provided in all three
questions of S marks each. You have to
attempt-only one of the given choice in such

questions.

(viii)Use of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A™!

h=6.63x10724JS L 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : A)

Previous Pathshala




(5) 4328/(Set : A)
[ a9 |

[ Objective Type Questions ]

1. () oSt & 9 & T e B uRA B/ o
FEd Bl 1

Process of sharing the charges with the earth

is called as .............. .

(ii) e, (Fafa @ femshied) &1 SLAFS & 1
Ay € °N'm=> (B C°N 'm7”
(C) N'C?m™ (D) N~'C?m?

SI unit of €, (permittivity of free space) is:
A) C2N'm™2 (B) C?N 'm™2

(C) N'C?*m? (D) N~ 'c?m?

(iii) Frafe § g &1 'E' & ol o9 & @ i

Write the expression for energy density of

electric field 'E' in free space.

4328/(Set : A) P.T.O.
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(6) 4328/(Set : A)
(iv) AI9HE S W, T SNEaRh S Firieen 1
(A) gedl B
(B) it &
(C) € 1 5¢ Tl 8
(D) I & & ©

With the increase of temperature, the
resistivity of a semiconductor :

(A) Decreases
(B) Increases
(C) May increase or decrease

(D) Does not change

(v) TP 2kQ % GeRiEs & BR & 5994V P [qeaior
&, IEH Rl fagg &R sated erft ? 1

How much current flows through a 2 kQ
resistor when a potential difference of 4 V is
applied across its ends ?

(vi) TF O fcejahid Uerd @l AR geehsiier
A T BT S 1

What is the value of relative magnetic
permeability of perfectly diamagnetic
substance ?

4328/(Set : A)

Previous Pathshala




(7) 4328/(Set : A)
(vii) U & AR e & R i B g o

(A) 1 (B) V2

© 75 (D) =

The power factor for a purely capacitive circuit
is :

(a) 1 (B) v2

(C) % (D) Zero

(vii) G ®IFI § g AGRT (UHF) S &l foa
fEq-gesid T & IUERT &k AN Hedl @
HIRH-YE &l Gl H Sk & 7 1
Which -electromagnetic wave ‘are used in
cellular.  phones to transmit  voice

communication-in the Ultra High Frequency

(UHF) band ?
(ix) S5 P QoL fBaT @l ? 1
(A) & | (B) &Y 9

(C) TXHE A (D) ¥ sl 9

Who discovered the nucleus ?

(A) Thomson (B) Bohr
(C) Rutherford (D) de Broglie
4328/(Set : A) P.T.O.
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(8) 4328/(Set : A)

(x) Jsafrea werd i Afpaar (Ueeaan) &SI ARG
BT & 7 1

What is SI unit of activity of Radioactive

Substance ?

(xi) TEEIT B TRFEAT Bl © 1
(A) TEE & (B) e @
(C) fargier & (D) & T4

Rainbow is a phenomenon due to :
(A) Reflection (B) Refraction
(C) Dispersion (D) All of these
(xii)fepHl TS BT § FAUHRT FhIT H T bl AT
o A 1

What is the shape of wavefront for the light
diverging from a point source ?

(xiii)SRIIIT  Fehcll e WG H SWNT BN A
g b Jfr 1 A & o ? 1

Name the optoelectronic device used to
detect optical signals.

(Xiv)Th SOFSh EeReT Faee & efiorar e © 71

In an electronic communication system,

what is attenuation ?

4328/(Set : A)

Previous Pathshala




(9) 4328/(Set : A)

[ Sy ST 9 |
[ Very Short Answer Type Questions ]

2. 2 pF, 3 pF 3R 4 pF 9ilar a@ & denfsr aiedseq A
e W Fl IR GISH H 100 V B GO 9 Sig g, o
T% HEE 9 99T S i) 2

Three capacitors of capacitances 2 pF, 3 pF and
4 pF are connected in parallel. Determine the
charge on each capacitor, if the combination is

connected to a 100 V supply ?

3. R & qisr (qu) e an g ? 2

What is Kirchhoff's loop rule.?

4. AT ST %GV STJFE TR 2
Name four applications of Eddy currents:
5. BUe & [GEq P ST & FEE fafa 2

State Faraday's Law of Electromagnetic Induction.

6. UH ISA 7.5 MHz ¥ 12 MHz 5 & il @A 4
U 8 9hal 31 GId adies a1 8 ? 2

A radio can tune into any station in the 7.5 MHz
to 12 MHz band. What is corresponding

wavelength band ?

4328/(Set : A) P.T.O.
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(10) 4328/(Set : A)

7. Th 0.040 kg 59 & o Sl 1.0 km/sec &l =
q I T 8, IGH & S e e el ? 2

What is de Broglie wavelength of a bullet of mass
0.040 kg travelling at a speed of 1.0 km/sec ?

8. FUTHSG dieT &g H 8N awil e Uishar @1 & °
>VBi % T4 &7 F T gk e 2

What is basic nuclear process underlying

B~ decay ? Write nuclear reaction of this decay

210,.
for 83Bl.

9. TF I-X S & [-V IR S50 aicedl Mosh &
9§ S SEE &l oy gid| 2

Draw the [-V characteristics of a Zener diode.
Also sketch the circuit diagram of Zener diode as
a voltage regulator.

10. & ¥ URYY P AT Tl oRam) 2

& —

Write the truth table for given circuit.

e

4328/(Set : A)

Previous Pathshala




11.

12,

13.

14.

(11) 4328/(Set : A)
HEX aed & & ARG I 2
Draw Block diagram of Communication System.

[ g ST 97 |
[ Short Answer Type Questions ]

T % AR WIS & &7 ARFRE! & fast S 3

Discuss three basic postulates of Bohr's model

of atom.

RIS foE[q o R e © 2Tl R o T A
%l die @ foRe S 3

What is photoelectric effect ? Discuss the effect

of intensity of light on photoelectric current.

A, & R AU OB & ¢ gRI & W &
T AT HiT| 3

What is polarization by reflection ? Deduce

Brewster Law ?

4328/(Set : A) P.T.O.
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(12) 4328/(Set : A)

15. T% g8 L-C-R IR0y, F¥H R = 44 Q, C = 8 uF
qE L =50 H &, & TF giadl agha 220 V ac 3R
H SISl T &1 STAE & STae # P AR, S
T G &l TOMT I 3

A series L-C-R circuit with R =44 Q, C = 8 uF and
L = 50 H is connected to a variable frequency
220 V ac supply. Calculate angular frequency,

impedance and current at resonance condition.

16, U & GRudE oM & Rl #if & oF=
AR H geed BN a8 9 RO g0 9N A
YaHiT & BN ST [T 39 g &S hl e A
A b [ g e L SwT S 2 3

Define ampere circuital law ? Write expression
for magnetic field at a distance r from a straight
infinite wire carrying current I. Which rule is
used to determine the direction of this magnetic

field ?

4328/(Set : A)

Previous Pathshala




(13) 4328/(Set : A)

17. @& Rfeaaq & e & o @i & 8 & fogg
dqresh Sl @l el @ oY itk RUY SA1gd| 3

Explain the principle of Potentiometer. Draw the
labelled circuit diagram for comparing of emf of

two cells ?

18. UH M ARG Tqa Mo G & RO G b e
R forg WX fogq &= & &g 3

Find expression for electric field intensity due to
a uniformly charged thin ‘spherical shell at a

point outside the shell.

[ € ST0T 9 |
[ Long Answer Type Questions ]

19. FoHE AT W H APl HTQ IES FT TR

g7 4+1=5

Explain the magnetic hysteresis loop ? What are

its uses ?

4328/(Set : A) P.T.O.
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(14) 4328/(Set : A)
YT
OR

Th o FHoSAl e & RS @ aue i
TR Th UHex § d9 gfafda fear s dear ® 7 5

Explain the principle of moving coil
galvanometer ? How it can be converted to an

ammeter ?

20. Hl T gREN H Jidlsd S99 ® AHihd 6
ARG SIZA| 6 SAGE. & I qRANe  HIfT qo
WWW%@W 2+2+1=5

Draw a labelled ray diagram showing the image
formation in an astronomical telescope. Define

its magnifying power and write expression for it.

SEC|
OR

I & fElRrd wam ¥ Bhe 9 @ &9 s g i 5

Find out the expression for Fringe width in

Young's double slit experiment.

4328/(Set : A)
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(15) 4328/(Set : A)

21. 8l n-p-n T & CE =@ & St &
T & U 9RuY RE T2Y| 39 9 @ few
ayr i sifemeies & oE i ORT Ydee Ol 6
RN iy 2+1+1+1=5

Draw a circuit diagram to study characteristics
of n-p-n transistor in CE configuration. Draw
the sketch of input and output characteristics of
this configuration. Define current amplification
factor ?

AYAT
OR

U% p-n-p ;’rﬁwasrma g8 | p-n-p ;Tﬁﬂ%'{aﬁ
R T2 T 36D B HN 9. BT

Draw the symbol of a p-n-p transistor. Show the
biasing of a. p-n-p transistor and explain the
transistor action.

4328/(Set : A)
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CLASS : 12th (Sr. Secondary) Code No. 4328
Series : SS-M/2019

Roll No. SET : B

Afes A5

PHYSICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FYY G F T fF FT GeT-0H H JRT §T 15 T
g7 21 2

Please ‘make sure that the printed pages in this
question paper are 15 in _number and it contains
21 questions,

o To7-YF H alfed & G R4 T4 HE. T_T T g F
B FA-RTH % JeI-72 T (@)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YY1 F97 F TV [VGT @ BT @ B, F9T H HHH
T fered

Before beginning to answer a question, its Serial
Number must be written.

4328/(Set : B) P.T.O.

Previous Pathshala




(2) 4328/(Set : B)
o FTT-giaH % &% 4 @il G971 T 85
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd @ o de TE AR o
STaeTEAaT & ki@ 3T frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o ghereff ST T To FIT-UH v 9T [or@)

Candidates must write their Roll Number on the
question paper.

» ZUY 9] F TFTT &7 @ §d I8 _GARTT T @ & J97-9F
g7 7 & &, gl % S9N 56 @9y § wg A aar
@B TeT 1T ST

Before answering the questions, ‘ensure that_ you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 73T
(i) TTT 7 5721 597 &
(ii) & 5T a8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/

4328/(Set : B)

Previous Pathshala




(3) 4328/(Set : B)

(iv) o7 G@r 2 @11 T% Iy FT09 T & T T9%
797 2. 37 H &

(v) 57 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T B

(vi) 797 FET 19 @ 21 7F ¢ FTIT 597 & T J9F
I 5 37 H &

(Vi) J97- 7 & G @7 @ FS [AweT 78 8 FMIT 5 FH
ared A g F ol T qarT B T &1 0
g7 H & oy BT W a7 § @ a7 & & F97

T &

(viii) g & ST H- Gl 7E &l AT 87 T,
TGTIHIT RIS 1 20T [T o &eeTl 81

(ix) T&T ST & Gy HEkd Gaw FadaE & J
FH TGN T T & -
c=3x10%m/s o =41x10~ Tm A~
h=6.63x109%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : B) P.T.O.

Previous Pathshala




(4) 4328/(Set : B)

(iii) Question number 1 consists of fourteen (i-xiv)

objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is. no overall choice.. However, an
internal choice has been provided in all three
questions of S marks each. You have to
attempt-only one of the given choice in such

questions.

(viii)Use of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A™!

h=6.63x10724JS L 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : B)

Previous Pathshala




(5) 4328/(Set : B)
[ a9 |

[ Objective Type Questions ]

1. () &R a0 # REgg & gl & fow &9 qr SwEn e
S © : fgE dR, ST dR @ e, |1

Electric wiring in our homes has three wires :

live, neutral and .............. .

(i) & (Fem= @ Frm @ fEdie) &1 ST A= & € ¢
(A) N'C2m? (B) N-'C?m™2
(C) N'C?m 2 (D) N Cc2m?

SI -unit-of k (proportionality constant in

coulomb's law) is :
(A) NC2m? (B) N'c?m ™2
(C) N'C?m™2 (D) N 'c?m?

(iii) T HRA & ORaT I ITH el » g fawaiay
% &Y H U9 GRd Seil # e [Rag) 1

Write the expression for energy stored in a
capacitor in terms of capacitance and

potential difference between its plates.

4328/(Set : B) P.T.O.

Previous Pathshala




(6) 4328/(Set : B)
(iv) T =10% H TTs ToM T Iah! Fligewhd @ 1
(A) ¢ SR &
(B) g€ S ©
(C) 9g I g€ Tl ©
(D) Sa+t & W&l ©

With the increase in length of a conductor,

its resistivity :
(A) Increases
(B) Decreases
(C) May increase or decrease

(D) Does not change

(v) S9.UH 4 Q HoREs 5 R & 9512 V fawaiay 9,
ol SEH el g o Sefed Bl o 1

How much current flows through a 4 kQ
resistor when a potential difference of 2 V is

applied across its ends ?

(vi) T QU7 UG W H e SgR & AW
B © ° 1

What is the value of magnetic susceptibility

of a perfectly diamagnetic substance ?

4328/(Set : B)
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(7) 4328/(Set : B)
(Vi) T8l TH ac BNd P NH q ST Jar g, o deedr

A g7 & B Y BT ® 1
(A) 0° (B) 90°
(C) 45° (D) 180°

Phase difference between voltage and current
when an ac source is connected to an

inductor :
(A) O° (B) 90°
(C) 45° (D) 180°

(Vi) sneehl H SHargell @ A § SE-a iﬁgﬁr
YA T H IGINT fehell el 87

Which electromagnetic-wave is-used to kill
germs in water purifiers ?

(ix) WIS &AM & AIER, Th D=k H IAHR
SR Blar 8 7 1

(A) 10'm § 107°m
(B) 107> m & 10 ?m
(C) 10 m § 10 m
(D) 102.m & 107 m

According to Rutherford's experiments, the
size of nucleus is about :

(A) 10" mto 10 %m
(B) 10 mto 10 ¥ m
(C) 10 mto 107" m
(D) 10 mto 10 ' m

4328/(Set : B) P.T.O.
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(8) 4328/(Set : B)
(x) g B @l fhe &l ? 1

Who discovered neutron ?

(xi) ST g fpd aREeT W #E & § 7 1
(A) &
(B) STqacH
(C) T

(D) T iR e

Optical fibres works on the phenomenon of :
(A) Dispersion
(B) Refraction
(C) Scattering
(D) Total Internal Reflection

(xii)STA T B S, S Bihd oy W wE
forg el T@l &; | S, AT &l ST @ © ¢

What is the shape of wavefront of the light
emerging out of a convex lens when a point
source is placed at its focus ?

(xiii)TepTiSreh  fafeRon @ fE[q § ®UARA & Al
AT Igeiergiivieh | kT I TH syl 1

Name the optoelectronic device which convert
optical radiation into electricity ?

4328/(Set : B)

Previous Pathshala




(9) 4328/(Set : B)
(xiv)Th TAF(D FAR Tl § ‘WA § R/ S

g7 1
What is 'Range' in an electronic communication
system ?

[ sfoeyg ST 99 |

[ Very Short Answer Type Questions ]

2. 3 pF, 6 pF 38X 9 pF &ifkar a@ diF denfsr aredsey &
e T Fl IR GISH F 200 V & RO ¥ Sie F, o
% S 9 A9 S i) 2

Three capacitors of capacitances 3 pFE, 6 pF and
9 pF are connected in parallel. Determine the
charge on each capacitor, if the combination is

connected to a 200V supply ?

3. B g ey foRaw Red N9 @1 Fow 9w T2 @

T 7 2
Write any two conditions when Ohm's Law fails ?
4. A T e ? 2
What is Lenz's Law ?
5. TEGEY F1 Bl & 7 ZEH AHihd o SRy 2

What is Transformer ? Draw its labelled diagram.

4328/(Set : B) P.T.O.
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10.

(10) 4328/(Set : B)

. UH WA 100 m § 50 m qORH 55 & Al R I

TIERT & T 81 W T S & 2 ? 2

A radio can tune into any station in the 100 m
to 50 m wavelength band. What is the
corresponding frequency band ?

. T 0.060 kg ZFAM & g S 1.0 km/sec & A

T o W 7, SHHE 3 SFel JORE fhdHT 8 ? 2

What is de Broglie wavelength of a ball of mass
0.060 kg moving at a speed of 1.0 m/sec ?

. AT O & W SEREA AL SRR b © ?

Yo % fou gq e  ilEE e i 2

What is basic nuclear process underlying
B*decay ? Write nuclear reaction of this decay

11
for 6C.

. GURT fheey & G i el & aRuy. aEa)

39 IRUY & Mg dur T aicedr seET 2

Draw the circuit ‘of -full wave rectifier with
capacitor filter. Also draw the input and output
voltage of this circuit.

& & gRUY T el R 2

s =som D

Write the truth table for given circuit.

Aoy, y
Be———C0——

4328/(Set : B)
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(11) 4328/(Set : B)
11. HGYALA T B & AR 36 AELFHD F B & ! 2

What is modulation and why it is needed ?

[ g I 9 |

[ Short Answer Type Questions ]

12. TR S99 Soll B G ST J9T 56D &1 A0
femst o 3

Draw binding energy curve and discuss its two

main features.

13. 3 fafpRer @ ol daaiet & e T or
e gt fava & d9 e @1 famst Fifm 3

Discuss the variation of photocurrent with
collector plate potential for different intensity of

radiation.

14. UHI A foaaq o1 B ? Uha B0 fqads & At
A NG S9ET| 3

What is diffraction of Light ? Draw diagram for

single slit diffraction arrangement.

4328/(Set : B) P.T.O.
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(12) 4328/(Set : B)

15. % Jfigs L-C-R R9Y, F&H R =60 Q, L = 80 H
X C = 5 uF B, H Th IRl AGRT 240 V MYfRi |
SISt 1 21 AR d RAfd § Hoig SMgh, Sfcerr
AT & S IO BT 3

A series L-C-R circuit with R =60 Q, L = 80 H and
C = 5 uF is connected to a variable frequency
240 V supply. Calculate angular frequency,

impedance and current at resonance condition.

16. & HAICX fogq a}el & €19 99 & A9 [y q
TO0 Th TREY B ORI g qaiaR qen sieeHit
qRI¢ fhE qYE ae Heal &7 3

Write expression for force between two parallel
electric currents and hence define one ampere.

How parallel and antiparallel currents behave ?

17. #ieX 99 e R W FE a1 7 6w awEicd
PTG R R O B D Ea T B v o
[itel 3

On which principle meter bridge works ? Draw a

labelled circuit diagram and write expression to

find an unknown resistance ?

18. Jgq Vfeen 7 Med & faw & e 9 R Fivm 3

State and prove Gauss's Law in Electrostatics.

4328/(Set : B)
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(13) 4328/(Set : B)
[ S 999 ]

[ Long Answer Type Questions ]

19. @ p-n-p N & NS Sooid  Gad
AT, & ST & Y IRYY @ T9EU 39 o
¥ god faw qon el sl & @ difte fag
gty e fid gfaig @ 9w Hifi) 5

Draw a circuit diagram to study characteristics
of a p-n-p transistor in common _emitter
configuration. Also draw the sketch of input and
output characteristics of this configuration. Define

input and output resistances.

e

OR
IS Sooei vt Jadd @l wEfaf @ oRuy
MG B T 5

Explain the working of common emitter transistor

amplifier using circuit diagram.

4328/(Set : B) P.T.O.
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(14) 4328/(Set : B)

20. T% =0 HSC I & [AGT H qUA BT SEh
Y T dieediex § qRafia fear o g 8 ? 5

Explain the principle of a moving coil
galvanometer. How it can be converted to a

voltmeter ?

AYAT
OR

deeid arRoieicar qer fEifedr &1 oaue S e
LI I CEG HC C A B 8 LU | D RO R R B B
Y fAT ST & ° 5

Explain. the terms ‘magnetic' retentivity and
coercivity ? How the materials are selected for

making permanent magnets and electromagnets ?

21. JH H IO F KT & ! THA H WK &N
gaUT qUT SR & TN ERT AU & GfRr are
EIE 1 5

What is polarization of light ? Briefly describe
polarization by reflection and polarization by

scattering of light ?

4328/(Set : B)
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(15) 4328/(Set : B)
SaT
OR

frdl dga gemesll # Ofdfeig &9 1 TAHifed R
ARG Y| 3HH! AT 9T Sl URHINT P qen
% fore o fofagy 5

Draw a labelled ray diagram showing the

formation of image in a compound microscope.
Define its magnifying power and write

expression for it.

4328/(Set : B)
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o FYY G F T fF FT GeT-0H H JRT §T 15 T
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Please ‘make sure that the printed pages in this
question paper are 15 in _number and it contains
21 questions,

o To7-YF H alfed & G R4 T4 HE. T_T T g F
B FA-RTH % JeI-72 T (@)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.
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T fered

Before beginning to answer a question, its Serial
Number must be written.
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o FTT-giaH % &% 4 @il G971 T 85
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd @ o de TE AR o
STaeTEAaT & ki@ 3T frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o ghereff ST T To FIT-UH v 9T [or@)

Candidates must write their Roll Number on the
question paper.

» ZUY 9] F TFTT &7 @ §d I8 _GARTT T @ & J97-9F
g7 7 & &, gl % S9N 56 @9y § wg A aar
@B TeT 1T ST

Before answering the questions, ‘ensure that_ you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 73T
(i) TTT 7 5721 597 &
(ii) & 5T a8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/
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(iv) o7 G@r 2 @11 T% Iy FT09 T & T T9%
797 2. 37 H &

(v) 57 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T B

(vi) 797 FET 19 @ 21 7F ¢ FTIT 597 & T J9F
I 5 37 H &

(Vi) J97- 7 & G @7 @ FS [AweT 78 8 FMIT 5 FH
ared A g F ol T qarT B T &1 0
g7 H & oy BT W a7 § @ a7 & & F97

T &

(viii) g & ST H- Gl 7E &l AT 87 T,
TGTIHIT RIS 1 20T [T o &eeTl 81

(ix) T&T ST & Gy HEkd Gaw FadaE & J
FH TGN T T & -
c=3x10%m/s o =41x10~ Tm A~
h=6.63x109%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : C) P.T.O.
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(4) 4328/(Set : C)

(iii) Question number 1 consists of fourteen (i-xiv)

objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is. no overall choice.. However, an
internal choice has been provided in all three
questions of S marks each. You have to
attempt-only one of the given choice in such

questions.

(viii)Use of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A™!

h=6.63x10724JS L 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : C)
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[ aEIS O |

[ Objective Type Questions ]

1. (i) A9 & FECHHT B T 1912 F ... il
YRR 9§ R B 1

Quantization of charge was experimentally

demonstrated by .............. in 1912.

(ii) g 9 Il § Th FeldkglT G SIS & HeH W A
I I B U H AN Bl 8- 1

(A) K (TRIeEi)
1
(B) >

(€)1
(D) 0

Ratio of magnitudes of electric force in air and

water between an electron and proton is :

(A) K (dielectric constant)
1

B)Y —

(B) K

(C) 1
(D) O

4328/(Set : C) P.T.O.
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(iii) T oA ® wfed Sofl @ 2o SHe STas adl
afgeprelt & weg fqvaiox & &9 & ffau 1

Write the expression for energy stored in a

capacitor in terms of charge and potential

difference between its plates.

(iv) T o] & qOEH FoM W, g Sfeegehal @
(A) 9% ST &
(B) g€ SRH B
(C) 9 a1 §T &l ©
(D) Il & Tl ©

With the increase /of temperature, the
resistivity of a metal :

(A) Increases

(B) Decreases

(C) May increase or decrease
(D) Does not change

(v) 919 TF 3 kQ &% Ufaed & R & 959 9 V &
fvaioR @1, O SEH | fehal fagq O S B ¢ 1

How much current flows through a 3 kQ
resistor when a potential difference of 9 V is

applied across its ends ?

4328/(Set : C)
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(vi) @ Q9 Ufcrges el @ gahiiear & A
BT © ° 1

What is the value of magnetic permeability of

a perfectly diamagnetic substance ?

(vii) T & IR ac IR & iR To0% Bl & ¢ 1
(A) 1
(B) I

1
(& 72
(D) 2

The power factor for a purely inductive ac
circuit is :

(A) 1
(B) Zero
1
(C) 7
(D) +2

(viii)&lo o e & fuire e & - fEg-Jaom
TET 54T & SR 8 7 1

Which electromagnetic wave is used in remote

switches of TV sets ?

4328/(Set : C) P.T.O.
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(ix) A & fd Wied & AFAR TWAN] s &l
Mo 79 2 e soege of: @@ g 8 ¢ 1
(A) THIS Higd
(B) qX Hisd
(C) 9198+ Hisd
(D) ¥ it

Which model of atom suggests that atom is a
spherical cloud of positive charges with
electrons embedded in it ?

(A) Rutherford model
(B) Bohr model

(C) Thomson model
(D) de Broglie

(x) ASACFeadr S @l e @l ? 1

Who discovered radioactivity ?

(xi)waT%aﬁﬁmtﬁﬁa;%aﬁmaﬁ%ﬁ

g 1
(A) T (B) faad=
(C) e (D) gfeEger

Phenomenon of splitting of light into its
constituent colours is known as :

(A) Scattering (B) Diffraction
(C) Refraction (D) Dispersion
4328/(Set : C)
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(xii)fehdl I AR ¥ MM ad TB1el TEM A Gl 51
ST ART § T &l ST F & 7 1

What is the shape of portion of wavefront of
light from a distant star intercepted by earth ?

(xii)egq o H THT Fon A EWUARA FA A
S IRESE G CREEA IS IG ICR | E 1

Name the optoelectronic device that convert
electrical energy into light ?

(xiv)T% Ioldgliveh HEX Hael § Higed &l QR
| 1

In an electronic communication system, define
modulation ?

[ ity SO 99 ]
[ Very Short Answer Type Questions ]

2. 2 pF, 4 pF 81X 6 pF &ial 9 a9 qenis uredssy o
e MU ) Al HheW # 50V & @O 9 e 3,
U HEE U STael S it 2

Three capacitors of capacitances 2 pF, 4 pF and

6 pF are connected in parallel. Determine the
charge on each capacitor, if the combination is
connected to a 50 V supply ?

3. @ @ dfy g wr ® ? 2

What is Kirchhoff's junction rule ?

4328/(Set : C) P.T.O.
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4. TS H FRgg-gend I w7 Fem F@mm e ? o2

What is Faraday Law of Electromagnetic
Induction ?

5. % giER #1 B & ¢ oogae & Ry d @
Hee ofeErd @ fhE X eife © 7 2

What is Inductive reactance ? How it is related
to capacitive reactance at resonance ?

6. Th WA 40 m ¥ 25 m oY Fe & bt =9 4
TIERT & T 81 W g S & 2 ? 2

A radio can tune into any station in the 40 m to
25 m wavelength band. What is corresponding
frequency band ?

7. W g9 & PEH ZEEH 1.0-%10° kg AT S
2.2 m/secﬁﬂﬁ@(ﬂﬂqﬁﬁa'{aaaﬂém
qRucE feheT B 7 2
What is the de Broglie wavelength of a dust

particle of .mass 1.0"x 10 kg drifting with a
speed of 2.2 m/sec ?

8. FOHS dicl & I SERET THE Tibdl F & ?
2P % o et A fen fafe 2

What is basic nuclear process underlying
B~ decay ? Write nuclear reaction equation of

: 32
this decay for |_P.

9. T T Rl & URWY qu 36h faw qun i
dicedl & qUTEY gH13Y) 2

Draw the circuit diagram of full wave rectifier
circuit and input and output waveforms of this
circuit.

4328/(Set : C)
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10. %I T 9ROy H T qmen ke 2

A
B Y

Write the truth table for given circuit.

A
B Y

11. AFRIVS SO G § F JPwE ® qor 3@ an
o T 4§ 7 2
What an electronic communication system means
and what are its three basic units ?

[ 9 ST 9 |
[ Short Answer Type Questions ]

12. DA e Bl GRANT HISQ T e~

235 < .

ooU @ WY N il faded fhar fofw i
ferEie= SAftishar 1 Th SUERT e 3
Define nuclear fission. Write the fission
reactions of a neutron with Uranium isotope
22ZU. Write one use of nuclear fission reaction.

4328/(Set : C) P.T.O.
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13. ffad feer @ faf=T smgfrl & fig fger fawa qen
YeR1el g g1 & S e & fmst it 3

Discuss the variation of photoelectric current
with collector plate potential for different
frequency of incident radiation.

14. FRET R OB 2 ! Th FRO Afaeeer Yed @
AT LI T & ? 3

What is interference ? What are basic requirements
for a sustained interference pattern ?

15. TF I8 L-C-R UR9Y, " R=25Q, L= 16 H
&R C = 25 uF 3, P TF IR AR 225 V ac YR
q ST T/ 81 STAIE i oTaed & &g Tgf, Sfraren
T qRT i O Rl 3
A series L-C-R circuit with R=25 Q, L. =16 H and

C = 25 uF is connected to a variable frequency
225 V ac supply. Calculate angular frequency,
impedance and current at resonance condition.

16. UReHl soacie & ey fEga ool & ol s T
U TR A Bl GRS BT 3

Derive the expression for magnetic moment of a
revolving electron. Define Bohr magneton ?

17. U% @R g H URAMNG B R THilhd ARG
SET 9 Heelr SicsY @i e S| 3

Define a Wheatstone bridge ? Draw labelled
diagram and discuss the balance condition.

4328/(Set : C)
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18. U% THTHM AR Ida Mo i & PO IqD 3T
R forg W g & dlerel 1 &St & il 3

Deduce expression for electric field intensity due
to a uniformly charged thin spherical shell at a

point inside the shell.

[ & ST 99 ]

[ Long Answer Type Questions ]

19. T ToE RO Ufdfes S99 @1 ik 6w
@ A1 3EH ATE ST B YA, HioTT e
5q% foTY Foish foray 5

Draw.a labelled ray diagram showing the image
formation in an astronomical telescope. Define

its magnifying power and write expression for it.

3TeE
OR

I & fElRrd wam & Bhe 9l @1 &vs g i 5

Find out the expression for Fringe width in

Young's double slit experiment.

4328/(Set : C) P.T.O.
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20. TF p-n-p TN H ST THEU p-n-p TPRET A
AR AT FAT 36D B B GO I

Draw the symbol of a p-n-p transistor. Show the
biasing of p-n-p transistor and explain the

transistor action.

STeE
OR

Wn—p—ngﬁw%WﬁWWWﬁ
e & otegEd % e gRue RE s9EU 39
2 5 A5 20 . o O ) [« B | K 2 | o o
difemi. 39 4R SaH® N @i S BT 5

Draw a circuit diagram to study characteristics
of n-p-n transistor in CE (Common Emitter)
configuration. Draw the sketch of input and
output characteristics of this configuration.

Describe current amplification factor ?

21. UF o0 FOS e HIe & s B que Bl 3EH
T Ui § 8 wRafla e st @i 8 7 3+42=5

Explain the principle of moving coil galvanometer.

How it can be converted to an ammeter ?

4328/(Set : C)
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e
OR
gue AR T H AT HIR 56 T TR
g7 3+2=5

Describe the magnetic hysteresis loop ? What

are its uses ?

4328/(Set : C)
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o FTT-giaH % &% 4 @il G971 T 85
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd @ o de TE AR o
STaeTEAaT & ki@ 3T frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o ghereff ST T To FIT-UH v 9T [or@)

Candidates must write their Roll Number on the
question paper.

» ZUY 9] F TFTT &7 @ §d I8 _GARTT T @ & J97-9F
g7 7 & &, gl % S9N 56 @9y § wg A aar
@B TeT 1T ST

Before answering the questions, ‘ensure that_ you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T :
(i) TTT 7 5721 597 &
(ii) & 5T a8
(iii) ;;79@71 F1-1 o/ % GGE (i-xiv) TGS F97
/
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(iv) o7 G@r 2 @11 T% Iy FT09 T & T T9%
797 2. 37 H &

(v) 57 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T B

(vi) 797 FET 19 @ 21 7F ¢ FTIT 597 & T J9F
I 5 37 H &

(Vi) J97- 7 & G @7 @ FS [AweT 78 8 FMIT 5 FH
ared A g F ol T qarT B T &1 0
g7 H & oy BT W a7 § @ a7 & & F97

T &

(viii) g & ST H- Gl 7E &l AT 87 T,
TGTIHIT RIS 1 20T [T o &eeTl 81

(ix) T&T ST & Gy HEkd Gaw FadaE & J
FH TGN T T & -
c=3x10%m/s o =41x10~ Tm A~
h=6.63x109%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.
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(iii) Question number 1 consists of fourteen (i-xiv)

objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is. no overall choice.. However, an
internal choice has been provided in all three
questions of S marks each. You have to
attempt-only one of the given choice in such

questions.

(viii)Use of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A™!

h=6.63x10724JS L 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : D)

Previous Pathshala




(5) 4328/(Set : D)
[ a9 |

[ Objective Type Questions ]

1. () Uh FO A€M H THT .o, Ige Bld
gl 1
There are about .............. electrons in a

charge of -1 coulomb.

(i) & WA & A FH dd @YY I Bl THA Bl
g 1

(A) ST
(B) IEI€
(C) Hfciepitict
(D) SR F & PE T

Nature of electric force between two protons

is :

(A) Attractive
(B) Neutral
(C) Repulsive

(D) None of the above

4328/(Set : D) P.T.O.
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(iii) STAST T GINAT & € F T H@ORA § G FHon @
ot foTiEm 1

Write the expression for energy stored in a

capacitor in terms of charge and capacitance ?

(iv) T T % AR I &% | gha & Y IHeh!
HIREEC 1

(A) 9¢ Sl B

(B) g€ S @

(C) §¢ a1 _°HC Tl &
(D) I & T ©

With the increase of area of cross-section of

a conductor, its resistivity :
(A) Increases

(B) Decreases

(C) May increase or decrease
(D) Does not change

(v) 99 TF 5 kQ % Hfaed & R & 959 5 V &
fvaioR @1, O SEH | fehal fagq O S B ¢ 1

How much current flows through a 5 kQ
resistor when a potential difference of 5 V is

applied across its ends ?

4328/(Set : D)
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(vi) -1 e yafd ad Rl werd @ e
geeheliera feberl 8l 7 1
What is the relative magnetic permeability of
a substance whose magnetic susceptibility

is-17?
(vii) fefteeen & dar FfdEEE & T W & T BE-a
frgq-geara fafeer savT fean o & ? 1

Which electromagnetic radiation is used in
medicine to destroy cancer cells ?

(viii)[hEeh HIST I URATY BN ARCE, HiSe Hel S
g7 1

(A) IHET
(B) T&X®IS
(C) & sl
(D) ¥

Whose model of atom is also called nuclear

model of atom ?
(A) Thomson
(B) Rutherford
(C) de Broglie
(D) Bohr

4328/(Set : D) P.T.O.
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(ix) 59 TH GORT B TH ac ANd q N ™ &, a

dieedr oY a1 & %9 ¥ & ¢ 1
(A) 90° (B) 45°
(C) 180° (D) 0°

Phase difference between voltage and current
when an ac source is connected to a

capacitor :
(A) 90° (B) 45°
(C) 180° (D) 0°
(x) IsINfFeaar F BE-T1 TFE - 1-&F_gfFBE B
e BT B 7 1

1 Decay per second are equivalent to what
unit of radioactivity ?

(xi) U1l 1 FFE IRgET % HIROT SR Al fEs

s g ? 1
(A) iETe (B) frad=

(C) TahIE (D) STgee

Sky seems blue due to which phenomenon of
light :

(A) Dispersion (B) Diffraction

(C) Scattering (D) Refraction

4328/(Set : D)
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(xii)TH WY 4R B & ZENK e TR H O el
g7 1

What is shape of a wavefront around a

straight line source ?

(xiii)TE e R H AW AEC @ dieedr FEw
% B § IR A S el ® 7 1

Name a semiconductor device which can be

used as a voltage regulator ?

(xiv)Th AT~ GaX ogae ¥ SREme & &
AT ? 1

What a receiver does in an ' electronic

communication system ?

[ Sty ST 98 |
[ Very Short Answer Type Questions ]

2. 4 pF, 8 pF T 12 pF &IiRar a9 denfer weeshy
T R U ) AR’ GIASH H 150 V F WO 4 SIS T,
A I HEMF IX AT A i 2

Three capacitors of capacitances 4 pF, 8 pF and
12 pF are connected in parallel. Determine the
charge on each capacitor if the combination is

connected to a 150 V supply ?

4328/(Set : D) P.T.O.
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3. W & from @ FE @ T faraw 2
Write any two limitations of Ohm's Law ?
4. FaX ST @ F;1 AREE B ? 2

What do you understand by Eddy Currents ?

5. deaiia gfE & 2 7 SRR & o § q© IREE
gfeErd & fhE @ daftd © ? 2

What is capacitive reactance ? How it is related
to inductive reactance at resonance ?

6. U% A 3 MHz § 6 MHz 8 &l Ry 4 qu@id
B Hhal 3 GG qURE 8 a9 8n ? 2

A radio can tune into 3 MHz to 6 MHz frequency
band. What is the corresponding wavelength
band ?

7. T% 0.050 kg &HHH & goe S 2.0 km/sec @l =
q T W@ e, B T Sl aeeeE fhaer e ? 2

What is de Broglie wavelength of a bullet of mass
0.050 kg travelling at a speed of 2.0 km/sec ?

8. OFIH® SICT & %l TR Awehid SR 1 el o °
o % 78 w3 R A B wie e 2

What is basic nuclear process underlying
B* decay ? Write nuclear reaction equation of

this decay for ??Na.

4328/(Set : D)
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9. YT w1 URuY SEC qU 3Eh faw g i
dicedl ol TEEY |l SR 2
Draw the circuit diagram of a half wave rectifier
circuit and input and output waveforms of this
rectifier.

10. {23 & URYY i Fegar @ien g 2

A

B Y
Write the truth table for given circuit.

A

B Y

11. HiggeM | F1 SUE 87 36% TN TER © 2
What do you mean by modulation and what are
its types ?

[T ST 97 |
[ Short Answer Type Questions ]

12. T G F1 8 & P 39 AR B TH IaEIT
9 Th I fefem 3
What is nuclear fusion ? Write its one example
and one use of this reaction.

4328/(Set : D) P.T.O.
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13. U% QU g uhal Hadl gard & foq afod fafeeer @
mgfy & FR fawa & aRaas @ e Fivw 3

Describe the variation of stopping potential with
frequency of incident radiation for a given
photosensitive material.

14. JHI H faaq &1 B ? Una B0 fGadw & Amited
A NG S9ET| 3

What is diffraction of light ? Draw diagram for
single slit diffraction arrangement.

15. % g8 L-C-R 9Ruy, fidd R =42 Q, L = 4 H
AR €= 100 PF &, ® TH GREl Sgra 210 V ac
YR & SST T o1 TS H R F HioiT S,
SfcreTen -1 gRT &l T IS 3

A series L-C-R circuit with R =42 Q, L = 4 H and
C = 100 pF is connected to a variable frequency
210 V ac supply. Calculate angular frequency,
impedance and current at resonance condition.

16. GRS FT Bl & ? UH ol URANCER B HRY
fpT g &5 BT © ¢ 36 8 @ RS a4 S| @l
S 2 7 3

What is a Solenoid ? How much magnetic field is
due to a long solenoid ? How its direction is
determined ?

4328/(Set : D)
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17. U faveemdt & R & 9ol i) 0 89 & STiai®
JfeRg & G I AHihd URIY ARY SR 3

Explain the principle of a potentiometer. Draw a
labelled circuit diagram to determine internal
resistance of cell.

18. T% o= TR d THEHH AR aX & 99 i%lig?r
&5 ST it

Determine electric field intensity near an

infinitely long straight uniformly charged wire.

[ & S8 w7 ]
[ Long Answer Type Questions]

19.mw%%mmaﬁ?aﬁm|@aiﬁw
AHE T 8 MY Harg ?

Explain Domain theory of ferromagnetism: How
ferromagnetism depends upon temperature ?

HAYAT
OR

T I FoSdl I & fHERT @ avie Hie 39
T% dicedie § 39 gRakid fkar o g & ° 5

Explain the principle of a moving coil
galvanometer ? How it can be converted to a
voltmeter ?

4328/(Set : D) P.T.O.
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20. S P AT T BT & ¢ T & WEKH SR AT el
TR & SO ERT AT i HiR e S 5

What is polarization of light ? Briefly discuss
polarization by reflection and polarization by
scattering of light.

AYAT
OR

frdl dga gemesll # ufafig s @ Tmifed B
AME RN B ST §HT Bl URENa  HifTu
g% fou e fafg 5

Draw a labelled ray ' diagram showing the
formation of image in a compound microscope.
Define its magnifying power and write expression
for it.

21. T p-n-p ZiNEX & SHAMS Soeie (CE) fa=mg #
AEe & AFIT & [T GRUY R SERU 39
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Draw a circuit diagram to study characteristics
of a p-n-p transistor in CE (Common Emitter)
configuration. Draw the sketch of input and
output characteristics of this configuration.
Define input and output resistances.
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Explain the working of a CE (Common Emitter)

transistor amplifier using circuit diagram.
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